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1. Which of the following describes

a mental benefit of Physical

Activity ?

(A) Enhancing body shape

(B) Understanding of rules

(C) Relieving stress-tension

(D) Developing friendship

2. Plato is referred to as the father

of :

(A) Idealism

(B) Realism

(C) Pragmatism

(D) Naturalism

1. 'kkjhfjd fÿ;k'khyrsP;k ekufld ykHkkps o.kZu

dj.kkjs fo/kku dks.krs \

(A) 'kjhjkps vkdkjeku lq/kkj.ks

(B) fu;e let.ks

(C) rk.k r.kkokiklwu eqDrrk

(D) eS=h ok<fo.ks

2. IysVk s g s ;kps tud Eg.k wu vk sˇ[kys

tkrkr %

(A) vkn'kZokn

(B) okLrookn

(C) O;ogkjokn

(D) fulxZokn
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3. An activity which is voluntary,

separate, uncertain, economical and

rule governed is called :

(A) game

(B) play

(C) sport

(D) recreation

4. Man’s most potent socialization

process is :

(A) social interaction

(B) social courtesy

(C) social visits

(D) social understandings

5. Which of the following city has no

regional centre of National Institute

of Sports ?

(A) Bengaluru

(B) Lucknow

(C) Patiala

(D) Kolkata

3. vlk miÿe tks ,sfPNd] foHkDr] vfuf'pr]

deh [kfpZd o fu;kekauh fu;af=r vlrks R;kyk

vls Eg.krkr %

(A) [ksˇ

(B) ekStslkBh [kš

(C) ÿhMk

(D) euksjatu

4. ekuoh lkekthdj.kklkBh lokZr izHkkoh izÿh;k

gh vkgs %

(A) lkekftd vkarjÿh;k

(B) lkekftd œrKrk

(C) lkekftd HksVh

(D) lkekftd lkeatL;

5. [kkyhyiSdh dks.kR;k 'kgjkr jk"V™h; ÿhMk

laLFksps (NIS) foHkkxh; dsaÊ ukgh \

(A) csaxyw:

(B) y[kukS

(C) ifV;kˇk

(D) dksydkrk
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6. Locomotion and heat production

are the functions of this

system :

(A) skeletal system

(B) muscular system

(C) respiratory system

(D) cardiovascular system

7. Which of the following is known

as the trunk line of nervous

system ?

(A) synapse

(B) hypothalamus

(C) gangalia

(D) spinal cord

8. The integration of electrical activity,

muscle contraction, and change in

volume, pressure and flow are

integral components of :

(A) cardiac output

(B) single cardiac cycle

(C) cardiac hypertrophy

(D) stroke volume

6. mtkZfufeZrh vkf.k gkypky gh ;k laLFksph dk;sZ

vkgsr %

(A) vfLFk laLFkk

(B) Luk;q laLFkk

(C) 'olu laLFkk

(D) Úgf/kjkfHklj.k laLFkk

7. iq<hyiSdh psrk laLFksph izeq[k okfguh dks.krh

vkgs \

(A) fluWIl

(B) gk;iksFkWysel

(C) xWfXy;k

(D) eTtk jTtw

8. fo|qr ÿh;k] Luk;w vkdqapu o izek.k] nkc

vkf.k izokgk e/khy cnykps lek;kstu gs ;kps

vfoHkkT; ?kVd vkgsr %

(A) dkfMZvWd vk≈ViqV

(B) ,d dkfMZvWd pÿ

(C) dkfMZvWd gk;ijV™ksQh

(D) LV™ksd OgkWY;we
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9. In hypoxia, too little oxygen reaches

the :

(A) Brain cell

(B) Heart

(C) Tissue

(D) Lungs

10. Food or food component which

improves the capability of an athlete

to enhance his performance is

called :

(A) Ergogenic aids

(B) Diuretics

(C) Beta blockers

(D) Anabolic steroids

11. Following are the direct physiological

consequences of warm-down

activities following vigorous physical

activity except :

(A) Prevention of blood pooling in

the legs

(B) Increasing the rate of lactic acid

removal

(C) Promotion of reduction of

cholesterol in the blood

(D) Reducing the risk of cardiac

irregularities

9. gk;ikWfDl;k ;k voLFksr] dks.kR;k Hkkxkyk vYi

izek.kkr izk.kok;wpk iqjoBk gksrks %

(A) esanw is'kh

(B) ‚n;

(C) mrh

(D) Qq∂Qql

10. [ksˇkMwps dk;Zeku lq/kkj.;klkBh vko';d

{kerkapk fodkl dj.;klkBh mi;qDr vUu o

vUu ?kVdkyk vls Eg.krkr \

(A) vjxkstWfud~ ,sM~l

(B) Mk;;qjsfVDl

(C) chVk CykWdlZ

(D) vWukckWfyd~ fLVjksbM~l

11. rhoz O;k;kekuarjP;k f'kfFkfydj.kkeq̌ s gks.kkÚ;k

'kjhjÿh;k 'kkL=h; ifj.kkeka O;frfjDr dks.krk

ukgh \

(A) ik;ke/;s jDr lkp.;kiklwu izfrca/k

dj.ks

(B) yWfDVd vkEyP;k fupÚ;ke/;s ok<

dj.ks

(C) jDrkrhy dksysl~VWjkWyps izek.k deh dj.ks

(D) ‚n;kP;k vfu;ferrspk /kksdk deh

dj.ks
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12. The maximal amount of air that is

ventilated in a single inspiratory-

expiratory cycle is called :

(A) tidal volume

(B) inspiratory reserve volume

(C) vital capacity

(D) expiratory reserve volume

13. If a body is about to have a free fall,

it will accelerate every second at :

(A) 64 ft/sec

(B) 90 ft/sec

(C) 32 ft/sec

(D) 24 ft/sec

14. When centrifugal and centripetal

forces balance each other, then the

hammer will :

(A) Slow down

(B) Move faster

(C) Remain in rotation

(D) Not move at all

12. ,dk iz'olu o fu'olu pÿkr ckgsj iM.kkÚ;k

ok;wP;k deky izek.kkl vls Eg.krkr %

(A) Vk;My okWY;we

(B) bUlfijsVksjh fj>oZ okWY;we

(C) Ogk;Vy diWflVh

(D) ,WDlik;jsVksjh fj>oZ okWY;we

13. eqDri.ks [kkyh iM.;kÚ;k oLrwps Roj.k izrh

lsdan brds jkghy %

(A) 64 ft/sec

(B) 90 ft/sec

(C) 32 ft/sec

(D) 24 ft/sec

14. dsaÊkfHkxkeh o dsaÊksRlkjh cykps ijLij larqyu

>kY;kl] gWej ;k voLFksr ;sbZy %

(A) osx deh

(B) osx tkLr

(C) vkofrZr jkghy

(D) vftckr gky.kkj ukgh
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15. Which of the following is not an

example of static balance ?

(A) Standing in place on a balance

beam

(B) Maintaining a handstand

position

(C) Skipping across a gymnasium

(D) Performing hula hoop for 3

seconds

16. Newton’s third law of motion is

called :

(A) Law of action and reaction

(B) Law of inertia

(C) Law of momentum

(D) Law of gravity

17. Learning about sport rules, tradition

and history falls under the following

domain of learning :

(A) Affective

(B) Cognitive

(C) Psychomotor

(D) Associative

15. [kkyhyiSdh dks.krs fLFkj lerksyŸokps mnkgj.k

ukgh %

(A) cWyUl cheoj ,dk fBdk.kh mHks jkg.ks

(B) gW.M LVW.M fLFkrh fVdfo.ks

(C) fteuWf'kv~e e/;s fLdfiax djr tk.ks

(D) gqyk gwi rhu lsadsnkalkBh dj.ks

16. U;wVuP;k frlÚ;k fu;ekyk dk; Eg.krkr \

(A) ÿh;k o izfrÿh;spk fu;e

(B) tMŸokpk fu;e

(C) laosxkpk fu;e

(D) xq#Rokd"kZ.kkpk fu;e

17. [ksˇkps fu;e] ijaijk o bfrgklkps Kku

v/;;ukP;k dks.kR;k {ks=kr eksMrs \

(A) HkkokRed

(B) cks/kkRed

(C) ÿh;kRed

(D) laca/kkRed



7 [P.T.O.

AUG-71211/II

18. Peak performance in sports demands

this level of arousal :

(A) Minimum

(B) Maximum

(C) Optimal

(D) High

19. Practice of and perfection in a

motor skill is basically a function

of :

(A) observation process

(B) insight process

(C) conditioning process

(D) trial and error process

20. A holistic approach to injury

rehabilitation emphasizes healing

in :

(A) both mind and body

(B) only the mind

(C) only the body

(D) only the injury

18. ÿhMsrhy mPp dk;ZekuklkBh] vkosxkph gh

ikrˇh vko';d vlrs %

(A) fdeku

(B) deky

(C) i;kZIr

(D) mPp

19. dkjd dkS'kY;krhy vpwdrk o ljko ;kpk

ifj.kke vkgs %

(A) fujh{k.k izfÿ;k

(B) eeZn`"Vh izfÿ;k

(C) vfHkla/kku izfÿ;k

(D) pwdk&lq/kkj izfÿ;k

20. nq[kkirhP;k iquoZluklkBh lo±d'k iºrhe/;s

gs cjs dj.;koj Hkj vlrks %

(A) 'kjhj o eu nksUghgh

(B) QDr eu

(C) QDr 'kjhj

(D) QDr nq[kkir
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21. Purposefully developed plans for the

transaction of curriculum content is

called :

(A) Programming

(B) Teaching

(C) Planning

(D) Instruction

22. The elementary school curriculum

should stress on :

(A) Movement education

(B) Skill education

(C) Fun education

(D) Fitness education

23. The most obvious role for physical

education teachers should be :

(A) Event manager

(B) NCC officer

(C) Director cultural activities

(D) Teaching

21. vH;klÿekrhy vk'k;kph nsok.k?k sok.k

dj.;klkBh gsrw iqjLlji.ks r;kj dj.;kr

vkysyh ;kstuk Eg.kts %

(A) izksxzWfeax

(B) v/;kiu

(C) fu;kstu

(D) vuqns'k

22. izkFkfed 'kkys; vH;klÿekr ;koj Hkj

|kok %

(A) gkypky f'k{k.k

(B) dkS'kY; f'k{k.k

(C) ekSt f'k{k.k

(D) l`n`<rk f'k{k.k

23. 'kkjhfjd f'k{k.k f'k{kdkph lokZr egŸokph

Hkwfedk gh vlkoh %

(A) miÿe O;oLFkkid

(B) ,u-fl-fl- vf/kdkjh

(C) lkaLœfrd dk;Zÿe funsZ'kd

(D) v/;kiu
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24. The type of practice used in teaching

an open skill is usually :

(A) Fixed practice

(B) Massed practice

(C) Variable practice

(D) Distributed practice

25. Which of the following is not a

risk factor in cardio-vascular

disease ?

(A) Physical activity

(B) Overweight

(C) High fat diet

(D) Heredity

26. Carboloading used by athletes

means :

(A) Spending energy during

physical workout

(B) Generating energy per unit of

time

(C) Getting energy from blood

(D) Storing energy in muscles

24. eqDr dkS'kY;kP;k v/;kiukr ;k ljko

in~/krhpk okij dsyk tkrks %

(A) fuf'pr ljko

(B) lkewfgd ljko

(C) fopyu'khy ljko

(D) fc[kqjysyk ljko

25. ‚n; jksxke/;s [kkyhyiSdh dks.krh ckc

tks[kehph Bjr ukgh \

(A) 'kkjhfjd ÿh;k'khyrk

(B) vfrfjDr otu

(C) mPp esn;qDr vkgkj

(D) vuqoaf'kdrk

26. [kš kMwa dMwu okij.;kr ;s.kkjs dkcksZyksfMax

Eg.kts %

(A) 'kkjhfjd O;k;keknjE;ku mtsZpk okij

(B) oš sP;k nj ,d~dkr mtkZ fufeZrh

(C) jDrkrwu mtkZ feˇfo.ks

(D) Luk;we/;s mtkZ lkBfo.ks
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27. isv~j vkdkjkP;k O;Drhyk gh rkaf=dh laKk

okijrkr %

(A) xk;ukWbZM

(B) vWUM™kWbZM

(C) gk;kWbZM

(D) LihukWbZM

28. ^fujke;rk* ;k laKspk vFkZ %

(A) ÿh;k'khy thou'kSyh

(B) i;kZIr vkjksX; o pSrU;

(C) jksxkpk vHkko

(D) 'kkjhfjd lqn`<+rk

29. fuiq.k lk;dy iVw izf'k{k.kkrhy fof'k"Vrsps

rRo voyacrkuk vls djrks %

(A) vfrHkkjklg LDokWV

(B) lkrR;iw.kZ /kko.ks

(C) QDr lk;dyhax dj.ks

(D) maphoj izf'k{k.k

27. The technical term used for a pear

shaped individual is :

(A) Gynoid

(B) Android

(C) Hyoid

(D) Sphenoid

28. The term ‘wellness’ means :

(A) Active lifestyle

(B) Optimal health and vitality

(C) Absence of disease

(D) Physical fitness

29. Following the training principle of

specificity a good cyclist must :

(A) squat with heavy load

(B) continuously run

(C) only cycling

(D) train at high altitudes
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30. Which of the following statements

is false ?

(A) Strength training increases

muscle tone

(B) Strength training increases risk

of injuries

(C) Strength training increases

performance

(D) Strength training increases

muscle mass

31. The maximum heart rate that

should characterize students’

exercise for health related fitness in

physical education class is :

(A) 25-40% of maximum heart rate

(B) 40-60% of maximum heart rate

(C) 60-85% of maximum heart rate

(D) 85-100% of maximum heart rate

30. [kkyh fnysY;k fo/kkukiSdh dks.krs pwd

vkgs \

(A) rkdn izf'k{k.kkeq š Luk;w rk.k ok<rks

(B) rkdn izf'k{k.kkeqˇs nq[kkirhpk /kksdk

ok<rks

(C) rkdn izf'k{k.kkeqˇs dk;Zekukr ok<

gksrs

(D) rkdn izf'k{k.kkeq̌ s Luk;wP;k izek.kkr ok<

gksrs

31. 'kkjhfjd f'k{k.kkP;k vkjksX;kf/kf"Br lqn`<rsP;k

ikBkr fo|kF;k±pk deky ‚n; nj brdk

vlkok %

(A) deky ‚n;njkP;k  25-40%

(B) deky ‚n;njkP;k 40-60%

(C) deky ‚n;njkP;k 60-85%

(D) deky ‚n;njkP;k 85-100%
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32. The ability to transfer energy swiftly

into force :

(A) Speed

(B) Strength

(C) Agility

(D) Power

33. A factor that could affect

the relationship between the

independent and dependent

variables, but that is not included

or controlled is called,

(A) Extraneous variable

(B) Controlled variable

(C) Intervening variable

(D) Independent variable

32. v'kh {kerk th mtsZps cyke/;s tyn ifjorZu

djrs %

(A) pky

(B) rkdn

(C) fn'kkfHkeq[krk

(D) 'kDrh

33. LokJ;h o vkJ;h pyke/khy laca/kke/;s

ifj.kke dj.kkjk o izR;{k lgHkkx fdaok

fu;a=.k ulysyk ?kVd Eg.kts %

(A) ck· py

(B) fu;af=r py

(C) gLr{ksi dj.kkjs py

(D) LokJ;h py
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34. A possible shortcoming or influence

that cannot be controlled by the

investigator is called :

(A) delimitation

(B) limitation

(C) scope

(D) significance

35. Generalisation of results to some

larger group is called :

(A) Inference

(B) Conclusion

(C) Results

(D) Recommendation

36. A statistical technique to assess

differences between two groups

is :

(A) t-test

(B) Correlation

(C) ANOVA

(D) ANCOVA

34. la'kks/kd T;k laHkkO; derjrk fdaok izHkkokoj

fu;a=.k d: 'kdr ukgh R;kyk vls

Eg.krkr %

(A) ifjlhek

(B) e;kZnk

(C) O;kIrh

(D) lkFkZdrk

35. eksBÓk xVklkBh ykxw gks.kkÚ;k fudkykP;k

lkekU;hdj.kkyk vls Eg.krkr %

(A) vuqeku

(B) fu"d"kZ

(C) fudky

(D) f'kQkjlh

36. nksu xVkrhy Qjd rikl.;klkBh okij.;kr

;s.kkjs lka[;hdh ra= Eg.kts %

(A) ^Vh* ifjf{kdk

(B) lglaca/k

(C) vWuksok

(D) vWudksok
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37. Survey method that involves

establishing norms for abilities,

performances and attitudes is

called a :

(A) Normative survey

(B) Historical survey

(C) Market survey

(D) Delphi survey

38. A hypothesis stating no difference

is also known as :

(A) Research hypothesis

(B) Statistical hypothesis

(C) Null hypothesis

(D) Alternative hypothesis

37. {kerk] dk;Zeku vkf.k vfHko`Ÿkhph ekuds

izLFkkfir dj.kkÚ;k losZ{k.k in~/krhyk vls

Eg.krkr %

(A) ukWjeWfVo losZ{k.k

(B) ,sfrgkfld losZ{k.k

(C) ekdsZV losZ{k.k

(D) MsYQh losZ{k.k

38. dks.krkgh Qjd ukgh vls uewn dj.kkjh

ifjdYiuk Eg.kts %

(A) la'kks/ku ifjdYiuk

(B) lkaf[;dh ifjdYiuk

(C) 'kwU; ifjdYiuk

(D) i;kZ;h ifjdYiuk
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39. A standard zigzag course is set up

with four cones placed on the corners

of a rectangle. The athlete runs a

course in the shortest possible time.

The test measures :

(A) Power

(B) Aerobic capacity

(C) Agility

(D) Strength

40. A judgement conducted near the end

of an instruction or training

program is called :

(A) Summative evaluation

(B) Formative evaluation

(C) Continuous evaluation

(D) Spot evaluation

39. vk;rkP;k pkj dksiÚ;kr dksu ekaMwu r;kj

dsysY;k ukxeksMh okVso:u dehr deh

osˇkr /kko.;kph dlk sVh ;kp s ekiu

djrs %

(A) 'kDrh

(B) ,jksfcd {kerk

(C) fn'kkfHkeq[krk

(D) rkdn

40. vuqns'k o izf'k{k.k dk;ZÿekP;k vafre

VII;kr  dsysY;k  ijh{k.kkl   vls

Eg.krkr %

(A) lekdfyd ewY;ekiu

(B) oSdkfld eqY;ekiu

(C) lkrR;iw.kZ ewY;ekiu

(D) {kf.kd eqY;ekiu
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41. AAHPERD Basketball skill test

does not include :

(A) Speed spot shooting

(B) Controlled dribble

(C) Defensive movement

(D) Forward pass

42. Spirometer is used to measure :

(A) Lung volumes

(B) Body volume

(C) CO2 volume

(D) O2 volume

43. The following practice alternative

would best promote motor learning

and safety in pole vaulting :

(A) Whole

(B) Part

(C) Progressive part

(D) Distributed

41. vkWQMZ ckLdsVckWy dkS'kY; dlksVh e/;s ;kpk

varHkkZo ulrks %

(A) LihM LikWV 'kwfVax

(B) daV™ksYM fM™cy

(C) fMQsfUlo ewOgesaV

(D) QkWjoMZ ikl

42. Lik;jkWfeVj us ;kps ekiu dsys tkrs %

(A) Qq∂Qql /kkjdrk

(B) 'kjhj vkdkjeku

(C) CO2 izek.k

(D) O2 izek.k

43. ckacw mMhrhy dkjd v/;;u o lqjf{krrk

ok<fo.;klkBh [kkyhyiSdh dks.krh ljko iºr

mŸke Bjsy \

(A) iw.kZ

(B) Hkkx

(C) izxr'khy Hkkx

(D) fc[kqjysys
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44. Which of the following activities

would require a conditioning

component in the lesson plan ?

(A) Javelin throw

(B) Mass Drill

(C) Drill machine

(D) Flag drill

45. ‘Bonus point’ is a term associated

with :

(A) Kabaddi

(B) Kho-kho

(C) Wrestling

(D) Boxing

46. Review of decisions is allowed in the

games of :

(A) Hockey and football

(B) Cricket and football

(C) Hockey and cricket

(D) Tennis and Badminton

44. [kkyh fnysY;k miÿeki Sdh dk s. kR;k

miÿekP;k ikBfu;kstukr fo'ks"k O;k;keizdkjkapk

lekos'k vlsy %

(A) Hkkyk Qsd

(B) lkewfgd dok;r

(C) fM™y ekfp±x

(D) fu"kk.k dok;r

45. ^cksul xw.k* gh laKk d'kk'kh fuxfMr

vkgs %

(A) dCcMh

(B) [kks&[kks

(C) dqLrh

(D) ckWfDalx

46. dks.kR;k [kš kae/;s fu.k;k±P;k iqujkoyksdukph

vuqerh vkgs \

(A) gkWdh o QqVckWy

(B) fÿdsV o QqVckWy

(C) gkWdh o fÿdsV

(D) Vsful~ o cWMfeaVu
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47. Match List I with List II and select

the correct code given below :

    List I             List II

(a) Specificity (1) Increase of intensity

(b) Progression (2) Decrease in performance

(c) Overload (3) Gradual increase of

intensity over a period

of time

(d) Reversibility (4) Adaptation to particular

type and amount

Codes :

(a) (b) (c) (d)

(A) (4) (1) (3) (2)

(B) (4) (3) (1) (2)

(C) (4) (2) (1) (3)

(D) (3) (4) (1) (2)

47. ;knh I 'kh ;knh II tksMk o fnysY;k

dksMe/kwu cjkscj mŸkj fuoMk %

    ;knh I             ;knh II

(a) fof'k"Vrk (1) rhozrse/;s ok<

(b) izxr'khyrk (2) dk;Zeku deh gks.ks

(c) vfrHkkj (3) fof'k"V dkykof/kr rhozrse/;s

lkodk'k ok<

(d) izfrpÿ.k (4) fof'k"V izdkj o izek.kk'kh

lek;kstu

dksM %

(a) (b) (c) (d)

(A) (4) (1) (3) (2)

(B) (4) (3) (1) (2)

(C) (4) (2) (1) (3)

(D) (3) (4) (1) (2)
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48. Match List I with List II and select

the correct code given below :

List I             List II

(a) Cardiovascular (1) Bridge up test

endurance

(b) Muscular strength (2) Beep test

(c) Muscular endurance (3) Leg press—1 RM

(d) Flexibility (4) Sit ups (1 min)

Codes :

(a) (b) (c) (d)

(A) (3) (2) (1) (4)

(B) (2) (4) (1) (3)

(C) (2) (3) (4) (1)

(D) (2) (4) (3) (1)

48. ;knh I 'kh ;knh II tksMk o fnysY;k

dksMe/kwu cjkscj mŸkj fuoMk %

 ;knh I               ;knh II

(a) ‚f/kjkfHklj.k (1) fczt vi dlksVh

nenkji.kk

(b) Luk;w rkdn (2) chi dlksVh

(c) Luk;w nenkji.kk (3) ysx izsl—1(RM)

(d) yofpdrk (4) flV~ vIl (1 min)

dksM %

(a) (b) (c) (d)

(A) (3) (2) (1) (4)

(B) (2) (4) (1) (3)

(C) (2) (3) (4) (1)

(D) (2) (4) (3) (1)
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49. (1) ‘‘Now-a-days athletes demand

huge amounts of money all over

the world in football, baseball,

cricket and basketball.’’

(2) From the statement one is able

to deduce that players are

highly valued in a few selected

sports :

(A) (1) is correct but (2) is wrong

(B) Both (1) and (2) are correct

(C) (1) is wrong but (2) is correct

(D) Both (1) and (2) are wrong

50. (1) ‘‘Wellness alone cannot become

the central concept underlying

life span sport, fitness and

physical education.’’

(2) Children need to start at an

early age to attend

educationally sound programs

that emphasize behaviour

change.

(A) (1) is correct but (2) is wrong

(B) Both (1) and (2) are correct

(C) (1) is wrong but (2) is correct

(D) Both (1) and (2) are wrong

49. (1) ^^vktdky txHkjkr] QqVckWy] cslckWy

fÿdsV o ckLdsVckWy e/khy [ksˇkMw

eksBÓk izek.kkr vkfFkZd ykHkkph ekx.kh

djhr vkgsr-**

(2) ojhy fo/kkuko#u vlk fu"d"kZ dk<rk

;sbZy dh dkgh fuoMd [ksˇkae/khy

[kš kMwaukp vf/kd Hkko fnyk tkrks

(A) (1) cjkscj vkgs i.k (2) pwd vkgs

(B) nksUgh (1) o (2) cjkscj vkgsr

(C) (1) pqd vkgs o (2) cjkscj vkgs

(D) nksUgh (1) o (2) pwd vkgsr

50. (1) ^^dsoˇ fujke;rk gh] vkthou ÿhMk]

lqn`<rk o 'kkjhfjd f'k{k.kkrhy e/;orhZ

ladYiuk vlw 'kdr ukgh-**

(2) eqykauh orZu cnykoj Hkj ns.;kÚ;k ifjiw.kZ

'kS{kf.kd miÿekl ygku o;krp lq#okr

dj.ks vko';d vkgs %

(A) (1) cjkscj vkgs i.k (2) pwd vkgs

(B) nksUgh (1) o (2) cjkscj vkgsr

(C) (1) pwd vkgs o (2) cjkscj vkgs

(D) nksUgh (1) o (2) pwd vkgsr
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